CSCE310    Data Structure & Algorithms    Spring 2001

Homework1

Name:

Given: Wednesday January 24th, 2001.

Due: Wednesday, February 7th, 20001.

________________________________________________________________________

You are asked to do the homework by your own and may not receive any help.  You may discuss with the instructor, the TA, a colleague or a friend the content of the course, not the content of the homework. Please check the applicable option and sign your statement.  Honesty is expected from you.

I hereby certify that:

I have done the homework completely by myself.

I have worked on the homework with another person.

Specify name:

I have received help but have written the homework independently.

Specify help:

I have copied the answers to the homework.

Specify source: 

      Signature: _____________________________

________________________________________________________________________

From the textbook:

1. (5 points) Exercise 1.1-2, page5.

2. (5 points) Exercise 1.1-3, page5.

3. (10 points) Exercise 1.2-1, page10.

4. (10 points) Exercise 1.3-2, page15.

5. (10 points) Exercise 1.4-1, page17.

6. (20 points, 5 points per question) Exercise 1.3, page18.

7. (3 points) Exercise 2.1-4, page 31.

________________________________________________________________________

8.   (24 points) Rank the following functions by order of growth from the slowest to the fastest. (Hint: check Equation (2.9) in textbook.)
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9.   (4 points) Prove that 4n = O(8 n). Is it true that  8n = O(4 n)? Justify your answer.

10. (9 points) Check each equality and state whether it holds or not.  Justify your answer.

3n2- 100n + 6  = O(n2),  3n2- 100n + 6  =   O(n3),   3n2- 100n + 6  =  O(n) 

3n2- 100n + 6  = ((n2),  3n2- 100n + 6  =   ((n3),   3n2- 100n + 6  =  ((n) 

3n2- 100n + 6  = ((n2),  3n2- 100n + 6  =   ((n3),   3n2- 100n + 6  = ((n) 


Sources: textbooks and other courses on the topic.

